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SBI CLERK (PRELIMINARY TEST)
REASONING ABILITY Practice Test 1

Test |

REASONING ABILITY

In a certain code ROBUST is written as ‘593127’
and BONE is written as ‘3964°. How is SORE
written in that code?

1) 2934
3) 2954
5 None of these

How many such pairs of letters are there in the
word SPORADIC (in both forward and back-
ward direction) each of which has as many let-
ters between them in the word as in the English
alphabet?

1) None
3 Two
5 More than three

In a certain code TOWN is written as ‘POSV
and CARE is written as ‘BFBQ’. How is BELT
written in that code?

1) FUAK
3) DSAK
5 None of these

The positions of how many digits in the num-
ber 9671285 will remain unchanged after the
digits within the number are rearranged in as-
cending order from left to right?

1) None 2) One
3) Two 4) Three
5 More than three

Bow many meaningful English words can be
formed - not ending with E - with the second,
the fourth, the sixth and the ninth letters of the
word PROACTIVE? (To be counted from left
side)

1) One
3) Three
5 More than four

Directions (Q. 6-10): Each of the questions
below consists of a question and two statements
numbered I and 11 given below it. You have to
decide whether the data provided in the
statements are sufficient to answer the
guestion. Read both the statement and — Give
answer

2) 2594
4) 3954

2) One
4) Three

2) DSCM
4 FUCM

2) Two
4) Four

1) ifthe data in statement I alone are suffigieﬂt
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10.

11.

to answer the question, while the data in
statement Il alone are not sufficient to an-
swer the question.

2) if the data in statement Il alone are suffi-
cient to answer the question, while the data
in statement | alone are not sufficient to
answer the question.

3) if the data in statement | alone or in state-
ment Il alone are sufficient to answer the
question.

4) ifthe data in both the statements | and Il are
not sufficient to answer the question.

5) if the data in both the statements | and 11
together are necessary to answer the
question.

In a row of twenty students facing North, what
is P’s position from the right end?

I Qisfifth to the right of P and eighteenth
from the left end of the row.

1. M is third to the left of P and eleventh
from the right end of the row.

How many daughters does D have?

L M and K are sisters of T.

Il.  T’s mother is wife of D.

How is ‘come’ written in a code language?

L ‘come and go’ is written as ‘je tama’ in
that code language.

Il.  ‘goback and’ is written as ‘ta sa je’ in that
code language.

On which day of the week definitely was R’s

birthday?

L R celebrated his birthday after Monday
but before Saturday.

Il.  R’ssister visited R on his birthday after
Wednesday.

AmongA, B, C, D and E, each securing differ-
ent marks in an examination, whose position is
last but one among them?

L D has secured less marks than only C and
E

1. B has secured more marks than A.

Mohan walked 30 metres towards West, took a
right turn and walked 20 metres. He then took a
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left turn and walked 40 met¥¥\a4 SRkSRIE

Towards which direction was he from the
starting point?

1) West
3) South-West
5 Data inadequate

Directions (Q. 12-15): Study the following
arrangement of numbers, letters and symbols
carefully and answer the questions given
below.

2) North
4) North-West

M5$T@2JODF19WP#E3816 § NATU7 % Z4

12.

13.

14.

15.

16.

17.

How many such symbols are there in the above
arrangement, each of which is immediately pre-
ceded by a number and immediately followed
by a consonant?

1) One
3) Three
5 More than four

Which of the following is exactly in the middle
between tenth element from the left end and
eighth element from the right end?

) E 2 3
3 # 4) Eor#
5 None of these

If the positions of the first sixteen elements in
the above arrangement are reversed, which of
the following will be the eighteenth from the
right end?

HJ
3 9
5 None of these

How many such consonants are there in the
above arrangement, each of which is preceded
by a number and not immediately followed by a
symbol?

1) None
3 Two
5 More than three

Directions (Q. 16-20): Study the following in-
formation carefully and answer the questions
given below.

PQ,R,S T, V,Wand Z aresitting around a
circular table facing the centre but not neces-
sarily in the same order. S is third to the right of
P. P is second to the right of V. R is second to
the left of V and third to the right of Q. W is not
an immediate neighbour of V. Z is second to the
right of T.

Who is to the immediate right of R?

) S 2T
3 Z 4 Vv
5 Data inadequate

2) Two
4) Four

2 @
4 F

2) One
4) Three

Who is second to the right ofydAd . sakshiel
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18.

19.

20.

21

22.

2 W
3 Q HT

5 Data inadequate
What is T’s position with respect to Q?
(A) Fourth to the left

(B) Fourth to the right

(C) Fifth to the left
(D) Third to theright
1) Only(A)

3) Only(C)
5 Both (A) and (B)

If S and Z interchanged their positions, who
will be second to the right of Q?

1 z 2 S
9 R 4) Data inadequate
5 None of these

Which of the following is correct?

1) Rissecond to the left of W
2) Sisthirdtotheleftof T

3) Pisfifth to the left of R

4) P is fourth to the left of R
5 All are correct

2) Only (B)
4) Only (D)

Directions (Q. 21-25): In each question below
are given two statements followed by two con-
clusions numbered I and I1. You have to take
the given statements to be true even if they
seem to be at variance with commonly known
facts. Read all the conclusions and then decide
which of the given conclusions logically fol-
lows from the given statements, disregarding
commonly known facts,

Give answer —

1) ifonly conclusion I is follows

2) ifonly conclusion 11 is follows

3) ifeither conclusion I or 11 is follows

4) if neither conclusion I nor 11 is follows
5) if both conclusion I and 11 are follow

Statements:
All banks are colleges.
Some colleges are schools.
Conclusions:
L No bank is school.
Il.  Some schools are not colleges.
Statements:
Some glasses are metals.
Some liquids are metals.
Conclusions:
L No liquids are glass.
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23.

24,

25.

26.

27.

28.

Il.  Atleast some glasses arg\ligipdssakshie
Statements:

All kites are aeroplanes.

No aeroplane is a bird.
Conclusions:
. Atleast some kites are birds.
II.  NOKkiteis abird.
Statements:

No ship is boat.

All boats are vessels.
Conclusions:
. Atleast some vessels are boats.
Il.  Noship is a vessel.
Statements:

Some houses are buildings.

No buildings are an apartment.
Conclusions:
. Atleast some buildings are not houses.
Il.  No house is an apartment.

Directions (Q. 26-30): Study the following in-
formation carefully and answer the questions
given below.

A, B, C,D, E, Fand G are seven members of
a club. Each of them has a different profession,
viz, Lawyer, Teacher, Architect, CA, Engineer,
Doctor and Scientist. Each of them has differ-
ent favourite sport (likes) viz, Lawn, Tennis,
Table Tennis, badminton, Snooker, Volleyball,
basketball and Carrom. The individuals, the
professions and the sports given above are not
necessarily in the same order.

B’s favourite sport is Lawn Tennis and he is
not a CA. D is the Architect and he does not
like Basketball. The Doctor’s favourite sport is
Carrom. The Teacher’s favourite sport is Vol-
leyball. E is the Scientist. C, the Lawyer, likes
Badminton. A likes Table Tennis. F’s favourite
sport is Volleyball.

Who favourite sport is Table Tennis?

2) Ca’s
4) Data inadequate

1) Engineer’s

3) Scientist’s

5 None of these
Who is the Doctor?

) G
3 C
5 None of these
What is D’s favourite sport?

1) Volleyball 2) Table Tennis
3) Snooker 4) Basketball ]
www.sakshie

2 F
4) Data inadequate

30.

3L

32.

33.

34.

HucatidnNvoeof these
29.

What is B’s profession?

2) Doctor
4) Architect

1) Engineer

3 CA

5 None of these
What is E’s favourite sport?

1) Volleyball 2) Table Tennis
3) Lawn Tennis 4) Carrom
5 None of these

Directions (Q. 31-35): In the following

questions, the symbols @, ©, %, #, and % are
used with the following meaning as illustrated
below.

‘P @ Q’ means ‘P is either greater than or equal
toQ’.

‘P © Q’ means ‘P is either smaller than or equal
toQ’.

‘P % Q’ means ‘P is neither greater than or
equal to Q™.

‘P# Q’ means ‘P is neither equal or smaller than
Q.

‘P % Q’ means ‘P is neither equal to nor greater
than Q’.

Now in each of the following questions assum-
ing the given statements to be true, find which
of the two conclusions | and 11l given below
them is/are definitely true?

Give answer —

1) ifonly conclusion I is follows

2) ifonly conclusion 11 is follows

3) ifeither conclusion I or 11 is follows

4) if neither conclusion I nor 11 is follows
5) if both conclusion I and 11 are follow

Statements:

M#J, JOK, K®%R
Conclusions:
L. R#J 1.
Statements:

W@D, DOF, F#K
Conclusions:
L. WH#F 1.
Statements:

R%M, M N, NOE
Conclusions:
L. E#M 1.
Statements:

AOT, T@N, N *x W

R#M

K%D

R% N
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35.

Conclusions: www.sakshieflucation.com

L. WxT . W»T
Statements:

Bx K, K®WN, N@D
Conclusions:
. D#K Il. N#B

www.sakshied
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SOLUTIONS
© ROBUST ——{]| |-
ULl Le—
5 9 31 27 7. (4 From both the statements
M, Kand T are children of D.
8B O NE Th f T isnotk
e sex of T is not known.
Ll Xortt W
39 6 4 8 (6) From both the statements
come |and go| — |je ta| ma
Therefore, S O R E
2 N [go] back [and| = [ta] sa [je]
2 9 5 4
9 (4 Fromstatementl
@ 19 16 15 18 1 4 9 3 R’s birthday may be on Tuesday,
S P O R A D | cC Wednesday, Thrusday or Friday.
] From statement 11
T 0O W N R’s birthday may be on Thursday, Friday ....
+I5EL D 10. () From both the statements
@
P O 5 vV C,E>D>B>A
C A R E n @ nw, ' NE
T4 D WK e
(_____Lmﬂ sw’ ¢ SE
B F B R 20m
Similarly e ]
30m
B E L T
+%?<l 12. (3 | Number | Symbol | Consonant |
F UK Such combinations are :
@ 9671285 I5$T|; [65N|; [7x Z]
12567(8|9
13. (1) Tenthelement fromtheleftend = F
@ 1 3 5 7 8 Eighth element from therightend = N
PIRJOIAJCIT]IVIEL | L FLOWP#[E|3816 3
Meaningful Word = TEAR 14. (2) Altogether there are 29 elements. If the
(3) From statement | positions of the 16 elements from the left are
reversed, the positions of 13 elements from
» 18th the right end will remain unaltered. Thus,
required answer would be 5th element from
’| | | | | | @ | | the left in the original arrangement.
8th < 5th element from the left = @
From Statement I1
15, (2 | Number | Constant | Letter/Number |
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16-20:
6. ()
17. (3
8. (5
19. (1)
20 (4)
(21-25):

21 (4)
2. (3
2. ()
2. (1)

Thereis only one such corﬁﬂMﬁ%ﬁ%@'e

T is tothe immediate right of R.
Q is second to the right of Z.
T is fourth to the right or left of Q.

If Sand Z interchange positions, then Z will
be second to the right of R.

R is second to the right of W.
Sis second to the left of T.
P is fourth to the left of R.

(i) Allbanksare colleges —
Universal Affirmative (A-type)

(i) Some colleges are schools —
Particular Affirmative (I-type)

(i) No shipis boat —
Universal Negative (E-type)

(iv) Some ships are not boats —
Particular Negative (O-type)

All banks are colleges.

/

Some colleges are schools.

A+ 1 = No conclusion

Both the Premises are Particular Affirmative.
No Conclusion follows from the two Particular
Premises.

Conclusions | and Il form Complementary Pair.
Therefore, either Conclusions | or |1 follows.

Al Kites are aeroplanes.

/

No aeroplane is a bird.
A +E = E-type of conclusion

“No kite is bird.”

No ship is a boat.

All boat are vessels.
E+A = O, - type of conclusion

“Some vessels are not ships.”
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5. (4)
26- 30:

2. (2
2. (1)
8. (3
2. (1)
0. ()
(31-35):

()
2. ()

Hucation.contusion | is Converse of the second

Premise.

Some houses are buildings.

/

No building is an apartment.

| + E = O-type of conclusion

“Some houses are not apartments.”

Member B Favourite
Sport

A CA Tabel Tennis
B Engineer | Lawn Tennis
C Lawyer Badminton
D Architect Snooker
E Scientist Basketball
F Teacher Volleyball
G Doctor Carrom

Table Tennis is the favourite sport of A, who
isCA.

G is the Doctor.

D’s favourite sport is Snooker.
B is an Engineer.

E’s favourite sport is Basketball.

©O=< | k==

% =<

@ =2
#=>

M#J = M>]

JOK= J=<K
KR = K<R
Therefore, M>J < K<R
Conclusions:

. R#J= R>J:True
. R#M = R>M:NotTrue
W@D=W=>D
DOF=D<F

FEK = F>K
Therefore, W>D <F> K

Conclusions:
. W#F = W>F: NotTrue
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35.

@

©)

@

Il K%D = K<D:N#/WW.Sakshie
R%M = R<M

M*N= M=N

NOE = N<E

Therefore, R<M=N < E
Conclusions:

. E#M = E>M:NotTrue
. R%WN = R<N:True
AOT =A<T
T@QN=T2=N

NxW= N=W

Therefore, A<T>N=W
Conclusions:

. Wy T= W=T:NotTrue
. W%T = W<T:NotTrue
W is either smaller than or equal to T.
Bx K= B=K

K%N = K<N

N@D= N>D

Therefore, B=K<N =D
Conclusions:

. D#K = D>K: NotTrue
Il. N#B = N>B:True
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